Loan ’Paﬂmerﬂ-s

We have alhoaa(ﬂ studiedd how a loan with compouicl intevest
grows wth fme i Pagmen-l-s are made and

the intevest rate does not chan%e:
BV = PO+7%)  or  Pett

Note +hot in +his Case f we want +o Knoo how Mmuch we
, we can also solve for

con affordd pay in +Hhe
Phe tHhat Wil grow o that amant :

P= 0yt or = Tlert

The situation s more complicated i are be\'ns made.

Example 2.4.3

~Can offord 3200 /month as  aar Pagmen‘k

—Ado loan ' 3% APR for S years

— How expensive of & cor loan can yow afford® In other words,
whot amt. laan can yow pay off with  $200 /month™

Note * If Yyou pay $200/month for 5 yaars, Hhods

(%200 /mon+h> x ( ) x ( )= %
That will need 4o  cover +he AND .
S0 ceﬁain\b the loan amt wmust e $

What are we look\’ns v heve, PV or FVT

* Tair 8 Shave

Since we are nterested N the size of +he loan vs +the

hral amt  in the , We are Iook\'ng Hor or



Calculate ?rincipa( / Presert Value of Loan

.. based on certain \feﬁu(ar Pa:jmenJrS over a S‘PEC\"Fieol ant . of
Hime, assuming - o Fixed interest rate

In Excel, enter +he formula A (poid every comp period)

=PV ( Tate per Peho& # periods, Pa5m+ omt ., FV)

T 2\ /tﬁ»hm: value
fimes comp. = \’/ (o]:rhonm 0 for loan)

v r
Pe ™ -ﬁ:ox?r?gs» / Hears}

APR R,

See Exce| Spreadsheef:
—Can offord loan of $
= Total paid is  ¥12,000.

- Amt Pa\io{ in interest s 8

Calculate Amt. of 'Reﬁular 'Patjmen'i's

Tn Excel, enter the fHormula ,
Pprincipal : P
¢

= PMT (rate per period, # periods, present val., fichure val.)
7 7 T optional

A .
#‘%%'co’m =" af},;}rgf)' ﬁ“'Q: n< (entuc 0 For ban)
per year

Exomple  2.4.2 Bub car that costs $15,0005 have $3000 saved 3
will fnance the vest /331’ $12,000 [van). Compore !
(c) 3 Year loan at 275% APR

(b) 5 Year loan af 49 APR
MonJrhly ‘Pagmm'}s Hr each® Total Ppaid for each 7 Amt. of interest?



